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Sl. No.1

QBID:1007376

Choose the correctly spelt word

(1)
(3)

(A) 1
(B) 2
(c) 3
(D) 4

Penacea {(2) Panacea

Panacae {4) Panecea

Answer Given by Candidate : A

Sl. No.2

QBID:1007377

Given below are four sentences in jumbled order. Select the option that gives their correct

order.

(A)

(B)
(C)

(D)

The old sculptor. Jakanacharl. was working on the main image of the temple in the

inner shrine.
At the next full moon 1t was to be consecrated and opened for worship.
The temple of Belur was nearly ready.

He spoke to no one and tolerated no interruption.

Choose the correct answer from the options given below :

(R)
(B)
(©)
(D) 4

W N =

(A). (D). (B). (C)
(C). (B). (A). (D)
(B). (C). (A). (D)

(B). (A). (C). (D)

Answer Given by Candidate : B

Sl. No.3

QBID:1007378




Choose the correct sentence.

(1) I recommend that he see a doctor.
(2) I recommend that he sees a doctor.
(3) I recommend that he 1s seeing a doctor.
(4) I recommend that he has to see a doctor.
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.4
QBID:1007379

Match List I with List IT

ListI List II
(A) Honorary (I)  One who does good to mankind
(B) Mercenary (II) The motive to earn money
(C) Philanthropist (III) An office without pay
(D) Prodigal (IV) One who wastes money

Choose the correct answer from the options given below :

(1) (A)-(ITD). (B)-(ID). (C)-(Dy. (D)-(IV)
(2) (A)-(IV). (B)-(ITD). (C)-(II). (D)-(I)
(3) (A)-(I). (B)-(ID). (C)-(I1L). (D)-(IV)
(4) (A)-(ID). (B)-(I). (C)-(III). (D)-(IV)

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : A

Sl. No.5
QBID:1007380

Which of the following approximates the meaning of the phrase. ‘on edge™

(1) feeling excited (2) feeling nervous

(3) feeling relaxed (4) feeling angrvy

(R)
(B)
©
(D) 4

Answer Given by Candidate : D

W N =

Sl. No.6
QBID:1007381




Identify the correct indirect narration for the following sentence.
He said. “Be quiet and listen to my words.”

(1) He urged them and said be quiet and listen to words.
(2) He urged them to be quiet and listen to his words.
(3) He said they should be quiet and listen to his words.

(4) He said vou should be guiet and listen to my words.

(A)
(B)
©)
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.7
QBID:1007382

From among the four options given. choose the one word substitute for the phrase. ‘one who
compiles dictionaries’

(1) Bibliophile (2) Evangelist
(3) Lexicographer (4) Lecturer

(A)
(B)
©
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.8
QBID:1007383

Identify the correct option to complete the sentence meaningfully.

While they cricket, lights ——————— out.

(1) had watched. had gone (2) were watching. went

(3) had watched. went (4)  have watched. have gone

(A)
(B)
©)
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.9
QBID:1007384

Choose the correct phrase to complete the following sentence.

The new washing machine often soes ———— order.

(1) run by (2) downin

(3 out of (4) even with

(A)
(B)
(©)
(D)

A W N =




Answer Given by Candidate : C

Sl. No.10
QBID:1007385

Identify the active volce for the following sentence.

o

Should a lie be ever told by you

(1) Should a lie ever he told? (2) Should vou ever tell a lie?
(3) Should a lie be ever told? (4) Should a lie be ever told by evervone?

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.11
QBID:1007386

Name of the first Satellite in the world to be launched into the space is :

(1) Apollo-I (2) Sputnik
(3) Galileo (4) Armstrong

(A)
(B)
©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.12
QBID:1007387

Which of the following is TRUE about G207?

(A) India will host the First G20 Summit in 2023.

(B) It accounts for more than 80 percent of global GDP, 75 per cent of global trade and 60
percent of the global population.

(C) Piyvush Goyal is the G20 Sherpa from India.

(D)  The permanent secretariat of G20 1s in New York.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A). (B) and (C) only
(3) (A) and (C) only
(4) (B). (C) and (D) only
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.13
QBID:1007388




Who among the following is the first person of Indian origin to receive Booker Prize?

(1) Salman Rushdie (2) Jhumpa Lahiri
(3) Arundhati Roy (4 V.S. Naipaul

(R)
(B)
©
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.14
QBID:1007389

Which of the following are true regarding Indira Gandhi National Centre for the Arts
(IGNCA)?

(A) It is a premier govenment-funded arts organization in India.

(B) It is an autonomeous Institute under the Union Ministry of Culture.

(C) It was established to serve as a major resource centre for Indian arts, especially
written. oral and visual source materials.

(D) It was launched by Former Prime Minister Shrimati Indira Gandhi.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only

(2) (A). (B) and (C) only

(3) (A). (B), (C) and (D) only
(4) (A) and (C) only

(A)
(B)
©)
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.15
QBID:1007390

Which direction does a geostationary satellite revolve round the earth?

(1) East to West (2) Westto East
(3) South to North (4) North to South

(A)
(B)
©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.16
QBID:1007391

Whe among P. Q. R. S and T is in the middle while standing in a line? @ standing to the right
of T while S 1s between P and T. and Q 1s between T and R.

(1) T @ P
(3) Q (49 R




(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : A

Sl. No.17
QBID:1007392

A 1s 13% from Top, B iz 18® from Bottom. When A and B change their position then A
becomes 21% from Top. What is the new position of B from bottom?

(1) 20 (2) 28
3 25 (4 26

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.18
QBID:1007393

Eight friends - P, Q. R. 5. T, U. V and W are sitting around a circle facing the centre. V is
third to the right of @ and second to the left of R while @ 1s second to the left of T and
immediate right of S. Also, U is between @ and T while P is not at the left of R. Who 1= exactly
at left of 57

(1 v & U
@ P 4 Q

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.19
QBID:1007394

Seven students A. B. C, D, E, F and G take a series of tests. No two students get similar
marks. G always scores more than A. A always scores more than B. Each time either C scores
the highest and E gets the least. or alternatively D scores the highest and F or B scores the
least. If G 1s ranked fifth. which of these must be true?

(1) C 1= ranked second (2) D scores the highest
(3) E is ranked third (4) B isranked fourth

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.20
QBID:1007395




In a row of boys, Jayant is 7™ from the start and 11™ from the end. In another row of boys,
Vikram 1s 10® from the start and 12%® from the end. How many boys are there in both the
rows together?

(1) 40 2y 39
(3) 38 4 35
(A) 1
(B) 2
(Cc) 3
(D) 4
Answer Given by Candidate : C
Sl. No.21
QBID:1007396
If E:é and £:i. the value of Sap-bg 13
b 3 g 14 4bg — Tap
11 11
1 - 9 —
@) 14 ) 14
12 12
3 — 4 -=
@) 13 ) 13
(A) 1
(B) 2
(Cc) 3
(D) 4
Answer Given by Candidate : A
Sl. No.22

QBID:1007397

Three spheres of radii 3 em, 4 cm and 5 em are melted to form a new sphere. Then, the radius
of the new sphere 1s

(1) Hem (2) 6Gem
(3) Tecm (4) 12cm

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.23
QBID:1007398

If the numerator of a fraction be increased by 15% and its denominator be diminished by 8%,

the value of the fraction is 1—; . then the original fraction is

(1) 3/4 (2) 4/3
(3) 37 4 3/8

(R)
(B)
(©)
(D)

A W N =




Answer Given by Candidate : Not Answered

Sl. No.24
QBID:1007399

13 chairs and 5 tables were bought for ¥ 8280. If the average cost of a table be ¥ 1227, then
the average cost of a chair is

() %185 2 % 175
3 ¥ 165 @ ¥ 145

(R)
(B)
©
(D) 4
Answer Given by Candidate : Not Answered

W N =

Sl. No.25
QBID:1007400

The selling price of 30 items 1s equal to the purchase price of 25 items. then the profit or loss
percent 1s

(1) 16% %, Loss (2) 16% %. Profit
(3) 20%. Loss (4) 20%, Profit

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.26
QBID:1045001

Asymmetrical features of federalism in India include :

Fifth Schedule
Sixth Schedule
Article 371 A
Article 371 G

onmp

Choose the correct answer {from the options given below :

(1) Only A, Band C
(2) Only B,Cand D
3) A B Cand D
(4) Only A, Band D

(A) 1

(B) 2

(c) 3

(D) 4




Ha # Tuare $r 3mAfaad Fowat & afae §

ot S
o8 s

3He[edg 371 T
Hepeade 37150

C N = p

A T av RAwedt A & HEr 3cay F T FifSw
(N Fad A, BAHR C
(2) Fad B,C3R D
(3) A.B,c3HR D
(4) sad A, B3R D

(A)
(B)
©
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.27
QBID:1045002

Which of the Constitutional provisions doesn’t/don’t come within the legislative
jurisdiction of the Legislature of a State?

Matters relating to clause 3 of article 16
Matters relating to article 32
Matters relating to article 33
Matters relating to article 34
Matters relating to clause 4 of article 16

moO® >

Choose the correct answer from the options given below :

(1 Only A, B, C and D
(2) Only B, C, Dand E
(3) Only A, C, D and E
() Only A, B, D and E

(A) 1

(B) 2

(c) 3

(D) 4




m o 0o @ p

~
)
~

W N =

(D) 4

Fid-ar gatnfas gaue Uo7 T & e sty & a8 mar & 2

HAede-16 % Ws-3 ¥ wafta fawy
He0e-32 ¥ watad fawa
HTe0e-33 W watad fawa
Fete-34 ¥ Fafaa vy
IHTTE-16 % Ws-4 @ Feftd fawa

i Rr av [BFedt # ¥ ¥ 3o F1 994 fifFw .

Fad A, B C3HRT D
%ad B,C,D3R E
Fad A, C,DIR E
Fad A, B,DHR E

Answer Given by Candidate : Not Answered

Sl. No.28

(1)
(2)
(3)
4)
(A)
(B)
©
(D)

A W N =

(R)
(B)
(©)
(D) 4

W N =

QBID:1045003

Reservation of seats for the Scheduled Castes and Scheduled Tribes in the House of
the People is provided under which article of the Constitution?

Article 16(4)
Article 243 D
Article 243 T
Article 334

dlieh | # Hegiaa sifa 3R segfEa saenfa & fav et & e &
WUl HiGUE & fhE 3eTete # A g 7

e 16(4)
eTeoG 24381
IeTeog 243 8
HeTeoe 334

Answer Given by Candidate : Not Answered

Sl. No.29

QBID:1045004




Which of the following articles were not inserted by the Forty-second Constitutional
Amendment Act, 19767

Al Article 21A
B. Article 31A
C. Article 39A
D. Article 43A
E. Article 48A

Choose the correct answer from the options given below :

(1) Only A and B
(2) Only B and C
(3) Only Cand D
(4) Only Dand E

(A) 1

(B) 2

(c) 3

(D) 4

frfaf@a # & e seedel # sarehad |@feus sfafaas, 1976 garr
Arfder a1gT fohar amar & 2

A TG 21F
B. Helete 31
C. HeTete 39
D. TG 436
E. HITSG 48

AT e av fAFedt & & @@ 3caR & T99 ffFC
(1 Fad AN B
(2 Fad B3R C
(3) Had CHR D
4) Fad DHR E

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.30
QBID:1045005

Who in the Constituent Assembly, said that ‘the Doctrine of Independence was not to
be raised to the level of a dogma so as to enable the judiciary to function as a kind of
Super Legislature or Super Executive’?

(1) N. Madhava Rao
(2) K.M. Munshi
(3) N.G. Ayyangar
(4) AK. Ayvyar

(A) 1

(B) 2




(c) 3
(D) 4

HiuT g7 F e ¥ of F wadTar + f@Ear # geufdiar 7 T a%
et #27 fFar s afge afs =araofeerr 39+ ge7 & & 37 s
e a7 4 FROIeRT & 9 F FF T TF 0

(1) U, AYET U9
(2) *.UH. Heft
3) .5 3TN
(4) T.%. 3T
(A) 1
(B) 2
(C) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.31

QBID:1045006

The Parliament of India consists of

A The House of the People
B. The Council of States

i The President

D. The Prime Minister

E. The Speaker

Choose the correct answer from the options given below :

(N Only A, B and C
(2) Only B, Cand D
(3) Only C, D and E
() Only A, B and E

(A) 1

(B) 2

(c) 3

(D) 4




m oo m p»

(1)

(R)
(B)
©
(D) 4

W N =

HITT & TOc # A §

wilsh |HT
qT AT

Tsgafa
TETAHAT
CIhAAT TEE

#r e 9v Bwedt & & @ 3caw & 3w fifew

Had A, B3t C
Fad B,CIHR D
Fad C,DANE
Fad A, B3 E

Answer Given by Candidate : A

Sl. No.32

o 0w

E.

(D
(2)
(3)
4)
(A)
(B)

(©)
(D)

A W N =

QBID:1045007
Which of the following is/are correct ?

Article 143 provides for the power of President to consult Supreme Court.
The opinion of the Supreme Court 1s not binding.

The Supreme Court is not bound to give opinion on the subject so referred.
The Supreme Court would respectfully decline to answer with reference

if it 1s improper. inadvisable and undesirable.

The Supreme Court is bound to give opinion.

Choose the most appropriate answer from the options given below :

Only A. Band C
OnlyB.Cand D
OnlyB.C.Dand E
Only A.B.C.D




R F e FaFa g awg adr &
A ITTOE 143 F TegUla I FoUaH FAEET ¥ WA A F AUHR
geF AT AT §
B.  I=9 g Taw FT A SreTFHT FA47 &
3TIaH ~OUTed $H YHR HEHd 999 W Ad Wed & % fov arex
Tel € |
D.  seoa® —aETed HETES. 56 BT W 3l & ¥ SAPR FT bl
g 3fg 38 77 e, wfene R sEmosT o |
E.  I=998 O/ TeT 39T #d 9He Hid F T aeg § |
A T 71T TFedt # @ §99 39gFd IcaX 1 I594 Ff
(1) Sad A.BIR C
(2) Faa B.CHX D
(3) *9a B.C.DAR E
(4) F9d A B.CAR D
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.33
QBID:1045008

Parliament may by law :

extend the jurisdiction of a High Court

establish a common High Court for two or more States
constitute a High Court for a Union Territory

establish administrative tribunal for each State

appoint judges of the High Courts

mMoN® >

Choose the most appropriate answer from the options given below :

(1) Only A, B, C and D
2) Only B, C, D and E
3) Only A, B, D and E
(4) Only A,C,D and E

(A) 1

(B) 2

(c) 3

(D) 4




fafer garr wee ¢

3T~ & AUSR 87 F TR W Fhdl g |

ar o1 8% yst & fav va 3T ~raey Tfita X S §
T 5T 87 & fOU 359 A6 #7164 FT Tl £ |

9% U0 F fav wenafas sfteor $1 weer & aedar
3Ta et ¥ Fmndet & FafEa woasd

m Qo aRpg

ﬁmmﬁﬁﬁﬁqug¢d 3o &1 99 RS0
(1) &del A B C3t D
(2) %dol B,C.D3N E
(3) Fad A, B D3R E
(4) Fad A C.DIRE
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : B

Sl. No.34
QBID:1045009

Which Constitutional Amendment lowered the voting age from 21 years to 18 years ?

(1) 58" Amendment Act, 1987
2) 61" Amendment Act, 1988
(3) 64" Amendment Act, 1990
4 65" Amendment Act, 1990

a) 1

(B) 2

(c) 3

(D) 4

fFa Sfeus wutya ganT Ade #T g 2199 F FH FH 18 T8 FH
T

(1) sear Heitus HfafETs. 1987

(2 61T Tefre AfafaTs. 1988

3) 6431 Tefre wfafaTs. 1990

(4) 65ar Tehae Ffaferas. 1990
(A) 1
(B) 2
(C) 3

(D) 4
Answer Given by Candidate : A

Sl. No.35
QBID:1045010




The Constitution (Forty-Second Amendment) Act, 1976 added three words to the
Preamble of the Constitution of India.

A Socialist
B. Secular
2 Integrity
D. Unity

E. Federal

Choose the correct answer from the options given below :

(N Only A, B and C
(2) Only B, C and D
(3) Only C, D and E
() Only A, C and E

(A) 1

(B) 2

() 3

(D) 4

Ffaue & (Faread @ys) AT, 1976 garT sRa F @fau &
Earae # di aeg wfAe e v & |

A FATSATST
B. qyfader
55 H@oEAT
D. Tehdl

E. |

ar fRr a1v f{wedt # ¥ ¥ 3o FT gIa hifFv
(1) Faa A B3R C
(2) Fad B,C3IR D
3 dad C,D3INE
4) Hael A, CHRTE
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.36
QBID:1045011

Which was the first reported case of Public Interest Litigation (PIL) seeking relief for
the under trial prisoners in jails ?

(1) Anil Yadav Vs State of Bihar, 1981

(2) Hussainara Khatoon Vs State of Bihar, 1979
(3) Khatr1 Vs State of Bihar. 1981

(4) Veena Sethi Vs State of Bihar. 1982

(A) 1




(B) 2

(c) 3

(D) 4
aﬁﬁmmﬁmmm@mﬁamﬁwmw
HAIAHT HiT-a1 8 2

(1) sfae aeg g9 R U5, 1981
2) FHART W &1 fagR T3, 1979
(3) @t aH f9gR U=, 1981
(4) T A8 FAH WER e, 1982

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : Not Answered

Sl. No.37

QBID:1045012

Given below are two statements : one is labelled as Assertion 4 and the other 15
labelled as Reason R.

Assertion A ;

Power of judicial review is considered as part of the basic structure of the
Constitution.

Reason R :

The Supreme Court is endowed with the power of judicial review to ensure judicial
independence and protection of rights.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 15 not the correct explanation of A
(3) A is correct but R is not correct
(4) A 1s not correct but R is correct

a) 1

(B) 2

(c) 3

(D) 4




I & FUA £ O HBHFYT (Ussertion A)F T H @I § o Al
IHF FRUT (Reason R)F T H |

HIRFYT A :
=A% FHET F HUFR A @R AT AT FHET AT TR
HNT R :

=afas Faaaar 3R JOERt fr r F [ sTugs ey #& aiEs
e &1 fOH T =

I FUA & Ileireh H, A T a0 Feeul # & @ IUFFA o] A
T FIfST

(1 AR RaE&T T § AR R, AF wE e §

2 AR R @ § afFa R A Fr @ carear A8 &

3) AT & T REE AT &

(4) ATE A & AfFT REST &
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.38
QBID:1045013

Given below are two statements : one 18 labelled as Assertion 4 and the other 15
labelled as Reason R.

Assertion A :

The powers within the Supervisory Jurisdiction of the High Courts are both
administrative and judicial in nature.

Reason R :

Article 227(1) gives the High Courts power of Superintendence over all courts and
tribunals within their territorial and constitutional jurisdiction.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A 1s correct but R 1s not correct
(4) A 1s not correct but R is correct

(A) 1

(B) 2

(c) 3

(D) 4




A & Fya § : 0F AT AF w9 A7 Ff@a ¢ gau 39 FRT RE
A |

HEBFYT A -

I STl & GddE e 1 &, gl 3R FrilE dat ghia
wE |

FHRUT R :

Feeae 227 (1), 359 =ARmeEl # 3a% e i gdufas =rnfaer
$hicT, weft wararerdt AR HfEERRol & 9T 3refieror &1 SR vere e & |

IO FUF F el A, AT U 710 FeFed # F Fa8@ 399%Fd Ieal T
5T FifST ’

(1) AR REAT WE § R R A S w9 carEw §

2) AR REET Tt & afFaT R A S ol s A8 §

3) ATE & ofhaT REdr 6T &

(4) A TR 78T & ofhT REST &

(A)
(B)
©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.39
QBID:1045014

Which Fundamental Rights are available to all persons?

Protection in respect of conviction for offences (Article 20)

Protection of life and personal liberty (Article 21)

Protection against arrest and detention in certain cases (Article 22)
Freedom of religion (Article 25 - 28)

Prohibition of discrimination on grounds of religion, race, caste or place of
birth (Article 15)

moN®p

Choose the correct answer from the options given below :

5} Only B, C and D
) Only A, B and C
(3) Only B, C, D and E
() Only A,B,Cand D

(A) 1

(B) 2

(c) 3

(D) 4




Fia-wia F Ao FOFER Fefr et 1 3geasr § 2

A 3ot gq QNfafE & afa @RETT (3ede 20)
Shaet 3 cafdaera Fadaan #1 ST (e 21)
C. #fagy #Amel # TREAS AN AR F faeg T@ion (3se

22)
D. &7 1 Fadaar (e 25 - 28)
3, 79T, St 3R oo W TR & FMR X SgHE @ AN
(37T=0 15)

AT T av R{eedt # & H@E 3cay F T4 FifSw
(n Fael B,C3HRT D
(2) Fad A, BIHR C
3 %ad B,C,D3HR E
4 Fad A, B,C3HR D

(A)
(B)
©)
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.40
QBID:1045015

Which Constitutional Amendment ended the Parts A, B and C categories of States and
implemented the States Reorganisation Scheme?

(1) The Constitution (Fourth Amendment) Act. 1955
(2) The Constitution (Fifth Amendment) Act, 1955
(3) The Constitution (Sixth Amendment) Act. 1956
4) The Constitution (Seventh Amendment) Act. 1956

(A) 1

(B) 2

(c) 3

(D) 4

forw wanfas weitee garr &, @ 3R a1 Aoht & Tt &t wAea R
IR T gedted s &1 fharfeaa fwar mar 2

(" FauAs (dtar Tt wfafEEe, 1055

@ FauAS (digar w@ee) sfafREE, 1955

() Haufas (Sor wetee) AT, 1956

(4) gaufas (araar @) wfafEms, 1956
(A)
(B)
(©
(D)

A W N =




Answer Given by Candidate : D

Sl. No.41

QBID:1045016

Which Constitutional Amendment abolished the privy purses and privileges of former
rulers of Princely States?

(1)
(2)
(3)
(4)

(R)
(B)
(©)
(D)

A W N =

The Constitution (Twenty-fourth Amendment) Act, 1971
The Constitution (Twenty-fifth Amendment) Act, 1971
The Constitution (Twenty-sixth Amendment) Act, 1971
The Constitution (Twenty-seventh Amendment) Act, 1971

e wufas weitue g Raredh osal & qF aeer & eamr st 3R
fRIWTRRT 1 @Area T o 2

(n
(2)
(3)
4)
(A) 1
(B) 2
(€) 3
(D) 4

waufAs (dtwar @) dfafETa, 1971
HauTlas (veirear |t Hfefaaa, 1971
HaueF (Sedraal @ys) JEETE, 1971
waufas (Fcagaar @) sfaFas, 1971

Answer Given by Candidate : Not Answered

Sl. No.42

QBID:1045017

Which powers and responsibilities are not endowed by the Constitution to the
Panchayats 7

(1)
(2)

(3)
(4)

(R)
(B)
(©)
(D)

A W N =

The preparation of plans for economic development

The implementation of schemes for economic development and social
justice

Agriculture, including agricultural extension

Regulation of slaughter homes and tanneries

Tfera garT T9rEEt F FiF-T HRFR FeaRedeT TeIT Agr Fr v E o

(A) 1
(B) 2
(c) 3

wids A AR e =a F fBr 3eaT 39w F#&@T

W e 3T grAfes =9 F foT It 1 o=
FLAT

. F+ fwr s
TasaEE AR =9 e # Feaes




(D) 4
Answer Given by Candidate : D

Sl. No.43
QBID:1045018

Given below are two statements : one is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A :

Ministers shall hold office during the pleasure of the President.

Reason R :

The Council of Ministers shall be collectively responsible to the House of the People.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

(C) 3

(D) 4

A @ FUT € TF AWFUST AF ¥ F f@T & o g@U 38F FROTRF
A |

HTAFYA A :

Tsgafa F JEETAT A, 39S 9g UROT HT |

FROTR :

#7H oftwg & T ¥ v e §9 ¥ Scaverh g §

ITNFT FIF F HAF 7. A U a0 Bt # & §a8 397Fd e 7
g Fifaw

(1) AT RN T & AT R AH wEr cmET §

(2) A AT R wEr § AfFT R A Fr Tdr surEar A 2
(3) AT . AR REET FAET &

() AT 78T €. T REET E

(A) 1
(B) 2
(©) 3
(D) 4




Answer Given by Candidate : A

Sl. No.44
QBID:1045019

Which of the following is incorrect about a Money Bill?

(1) The bill deals with all or any provisions under article 110 of the
Constitution.
(2) The Money Bill has to be so certified by the Speaker of the House of the
People.
(3) The Money Bill has to be introduced in the House of the People first.
(4) Both the Houses of the Parliament enjoy equal powers with respect to a
Money Bill.
A) 1
(B) 2
(c) 3
(D) 4

sT s Frav F g s e s ar g ea &

(1) T, §uTe F weSe-110 F Haea Tl o1 R s
¥ gaeT g
(2) U 9T F A T F F{eWET @ AT fRAr ST
grar ¢ |
(3) U UUsF FT 9gd AF A A TET AT AT § |
(4) o7 U F g9y F gue ¥ I A F A AEn
ued # |
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.45
QBID:1045020

Who explains party systems in India in terms of democratisation and decay?

(1) K.C. Suri
(2) YogendraYadav
(3) James Manor
4) Morris Jones
(A) 1
(B) 2
(Cc) 3
(D) 4

wmadetor 3R fGuea 1 e @ 9Ra & 9l womely & avia fRae faar

(1 @ qlr
(2) BICI G GG
3) SFg AAR

(4) | Sew




(R)
(B)
(©)
(D)

W N =

4

Answer Given by Candidate : Not Answered

Sl. No.46

QBID:1045021

Which of the following statements is/are correct 7

A,

B.
C.

D.

Some nations lack states

Some states lack national identity

Some nations occupy more than one state
Some states contain more than one nation

Choose the correct answer {rom the options given below :
(1)
(2)
(3)
4)

(R)
(B)
(©)
(D)

A W N =

Only A

Only B

Only Cand D

Only A,B,Cand D

Afef@a & & sla-arsla-a s i £ 7

- i

TG TS A T F I |

TG Ul # TSET Tgdled HT 30 ¢ |
FT S A TH ¥ HUH T E |

T TsA H T @ U g

A Rr v Jedl & & ¥ 3ca¢ = 9T FfSw

(A)
(B)
©
(D)

(1
(2)
(3)
4)

W N =

a

Fac A

Had B

Faa C3HR D
Fad A B, C3HR D

Answer Given by Candidate : Not Answered

Sl. No.47

QBID:1045022




Who. amongst the following political philosophers can be associated with the idea of
'Luck egalitarianism' ?

(D
(2)
3)
4)

(A) 1
(B) 2
(c) 3
(D) 4

John Rawls
Cohen

Robert Nozick
Ronald Dworkin

Trfafea ueehfas el & ¥ fFasr “gder gadaEe” fr Erumr &
ST ST Hehl & ?

(h

(A) 1
(B) 2
(©) 3
(D) 4

Sttt e
Fige

Qac Afas
Qerres ST

Answer Given by Candidate : Not Answered

Sl. No.48

QBID:1045023

Given below are two statements : one 18 labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A :

Problems of global environmental change pose serious challenges to democratic
political systems, as they currently exist.

Reason R :

We need a thicker conception of citizenship, like environmental citizenship that
obligates citizens to inculcate environmentally sensitive behaviour.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1)
(2)
(3)
4)

(R)
(B)
(©
(D)

A W N =

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A
A is correct but R is not correct

A 1s not correct but R is correct




AR FUA € U HRFUT AF F9 A A& § A gET 368 FROT RF

T H |

HIAFUT A -

d¥as gatarely aftada & FaFT0, 39 adA 8T #, disdias
TSeifas gonfaat & faw iR geifaar sooea W W T

HNRUT R :

& gAeRoi AR ar Sl AT 7 g AR H ETSAT §, A
A F TATEROT HEE SaER ol Y |

IR FUF & el A, AT Qe a1v faswedt # § 9@ 39gF7 3o ¥

Tg=T FIfaT
(n A3 REAT @ € 3R R A ad areTr &
2 A 3T RET T & ofFT R A Fr Tér sarear A6 &
(3) ATE & ofheT REE 7T &
(4) AT AgT . afrT RTET &
(A) 1
(B) 2
(©) 3
(D) 4

Answer Given by Candidate : B

Sl. No.49

QBID:1045024

The author of 'Essay on Toleration' is

(1)
(2)
(3)
4)

(R)
(B)
(©)
(D)

A W N =

Locke
Rousseau
J.S. Mill
Kant

TEY 3T AT F oE@F Hid & 2

(4)

(A) 1
(B) 2
(c) 3
(D) 4

¥

CiED
4T

s Fe
FIC

Answer Given by Candidate : A




Sl. No.50

equality' ?
(D
(2)
(3)
(4)

(R)
(B)
(©)
(D)

A W N =

(1

(A) 1
(B) 2
(c) 3
(D) 4

QBID:1045025
Who among the following theorists 1s known for his work on 'The theory of resources

Amartya Sen
Ronald Dworkin
Jagdish Bhagwati
Abhijit Banerjee

Taa & @ Sl o Reiaarsh darte & gAaeRr bed (The
theory of resources equality) W 319f F1I & faw ufag € ?

A B

e &l
SIS HaTaT
fIsia ettt

Answer Given by Candidate : A

Sl. No.51

(1)
(2)
(3)
(4)

(R)
(B)
(©)
(D)

A W N =

(1)
(2)
(3)
(4)
(A) 1
(B) 2
c) 3
(D) 4

QBID:1045026
Who described 'Democracy as the tyranny of the majority' ?

Tocqueville
David Held
Habermas
Carole Pateman

faa deds & 9o qgﬂdﬁh‘mmmu F w9 F Far 2

eiterael
ECER =
gaTE
e YA

Answer Given by Candidate : Not Answered

Sl. No.52

QBID:1045027




Given below are two statements :
Statement I :

Thin multiculturalism views some cultural differences as occurring between liberals
and non-liberals.

Statement II ;

Thick multiculturalism views all cultural differences as disagreements between groups
that already agree on liberal values.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement I is incorrect
(4) Statement I 1s incorrect but Statement 11 is correct
(A) 1
(B) 2
(c) 3
(D) 4

A=r &t Fua fer aw

FYA 1 :
QeH TgUTF A, ITeRaifeat AR N-FeRafeat F 99 Fo Firpias AT
o q@ar ¢ |

FHT 11 :

e IgEEpIaamG. T WiEpias AW H. 39 FHE F 9T AT F w9 A
T ¢ S 9ge ¥ 3EREEr Hedl W HEAd £ |

IWIFT FUS F ATk A A U 70 Beedr # ¥ 999 39gF 9 3ca< F
EpCIEdIE I

(1) FUT 13T FuF 13T Ter &

(2) FuF 13T FUF LA 99 &
(3) FUT 1TET £, ofhed FUF I IT0T &
4) FUAT 137009 . ATFd FUT I HET &
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.53

QBID:1045028




Match List I with List 11 :

Dow»

List1

Simone de Beauvoir
Betty Friedan
Germaine Greer

§. Moller Okin

List IT

The Female Eunuch

Justice, Gender and the Fammly
The Feminine Mystique

The Second Sex

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(R)
(B)
(©)
(D)

A W N =

A-IV, B-II1, C-11, D-1
A-L, B-II, C-IV, D-11
A-IIL, B-1V, C-1, D-111
A-1V, B-II1, C-1, D-11

1% | g 1w e S

T 1
A g Aigam
a9 s
FHaT AR

TH. AR 3HifET

[11.

Iv.

T 1

& Pt 77
SifEeH, oSt U3 g SiFel
wafaa el

& ds dFw

A BT av BFedt & ¥ ¥ 3caw = 994 fifew

(1)
)
(3)
4)
(A) 1
(B) 2
(c) 3
(D) 4

A-IV, B-II1, C-11, D-1
A-L, B-IIT, C-IV, D-I1
A-IL, B-1V, C-1, D-111
A-IV, B-II1, C-1, D-11

Answer Given by Candidate : Not Answered

Sl. No.54

QBID:1045029




Given below are two statements :

Statement I :

Liberal feminists argue for laws that give women formal equality of opportunity and

freedom from discrimination.

Statement If :

For radical feminists, the prevalence of violence against women is part and parcel of

sex-inequality.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement 11 are incorrect
3 Statement 1 is correct but Statement I1 is incorrect
(4) Statement [ 15 incorrect but Statement II is correct

(A) 1

(B) 2

(C) 3

(D) 4

AT & Fya Rr v £

FeT [ :

IERATE ANEEY, 3H FT & 987 F a6 & & S A F et f
st gAEar 3R AgHE A TEaFaT YEe Far g |

FHeT I :

e TREdHadr Afrarfeat & oo, Al & afa B $r sofvufa, e
AT T AT & |
sﬂﬁmﬁ#mﬁvmﬁwﬂﬁmﬂgﬁmaﬁm:

(1) =t Fae 13 nadr &
2) AT FUT 13K e &

(3) FUA [HE & Wed HYA 1770 §
(4) FYT 13700d § Red HU UTE &
(A) 1
(B) 2
(© 3
(D) 4

Answer Given by Candidate : A

Sl. No.55
QBID:1045030




Which of the following is/are correct explanation of Ronald Dworkin's idea of 'Rights
as Trumps' ?

A Norms of the society take precedence over basic individual rights.

B Interests of the whole community can trump individual rights.

C Basic rights of individuals take moral and legal precedence over other
: norms.

Choose the correct answer from the options given below :

(N Only A
(2) Only B
(3) Only C
() A,Band C

(A) 1

(B) 2

(c) 3

(D) 4

Fafaf@a & @ Fla-dr g/t AATes Zaifed $f UScH U gFad’
# AR F 3aR T § 2

A gae & s, safFaat & a0 3ReR @ s E

B. @yl @A & TR, SAFAId USRI @ FAOR & T § |
C. =afFadl & Ao 30+, AfaF IR Al w9 ¥ 30 Aegant &
FRE |

7 T aiv Reedt & & #81 3caw 1 939 fifav

(n Shad A
(2) &de B
3) Fae C

(4) A B3R C

(A)
(B)
©)
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.56
QBID:1045031




Given below are two statements :
Statement [ :

Jeremy Bentham, the founder of utilitarianism, ridiculed natural rights as a pernicious
fiction.

Statement I :
Human rights are believed to have been derived from the idea of natural law.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement 11 are incorrect
3 Statement I is correct but Statement I1 is incorrect
(4) Statement [ 1s incorrect but Statement I1 1s correct

(A) 1

(B) 2

(Cc) 3

(D) 4

AT & Fue e v §

FHed | :

ITAfAaEE & Sae S dyA, THfae JERT # dfRaE Feuar F F
#fawsa s E |

FUA 1l :
A ST g 6 A 3R Y e SR A FErum @ foar o g

3949 el # § A v v fwedt & 7@ v g
(0 gt w13 nadr &
(2) gt wuer 13 nag gt €
(3) FUA 1HE § Wed HUA TG g1 ¢
(4) YA 16 AGT ¢ Wo] FUA 1 TA

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.57
QBID:1045032

"If your aim is liberty in democracy, then you must teach people the art of being free
and of governing themselves." Who gave this statement ?

(1) Bertrand Russell
(2) Aldous Huxley
(3) Fichte

(4) David Held

(A) 1




(B) 2
(€) 3
(D) 4

“afg diehcd H IIHN 3T TATAT g, o IR @il b FaT B 3R
T Y AT F Y Far [{EE TR |7 9 g9a9ey Faa T g o
(1) aEs Wl
(2) Tesd gadol

(3) iR
(4) 3fas g3
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.58

QBID:1045033

Which of the following constitutes the core principles of "Utilitarianism' ?

Concept of utility
Greatest good of the greatest number
Laissez-Faire

ONwWpE

Maximum happiness of maximum number of people

Choose the correet answer from the options given below :

(1) Only A and B
(2) Only A. B and C
(3 Ounly A.B.CandD
(4) Only A.Band D
(A) 1
(B) 2
(c) 3
(D) 4




famfafea & ¢ Fia- g svafeee & yqe fEa &

D.

FuAferar #r s
HiEFdH FE&IT F1 HfUSaE g@
aH-HI

HiFdR SafEdal # FAfoFaA g@

e fer v Reat & ¥ §EY 3¢ FT T FifFT

(1)

(R)
(B)
(©)
(D) 4

W N =

Had AR B
%aa A.BIR C
F9d A.B.CAX D
%9 A.BIR D

Answer Given by Candidate : D

Sl. No.59

QBID:1045034

Who among the following defined "Citizenship as full and equal membership in
Political Community" ?

(1)
(2)
(3)
(4)
(R)
(B)
©
(D)

A W N =

Derek Heater
T.H. Marshall
Will Kymlicka

Iris Young

fPrfaf@a 7 @ frea aefisar & vafas agem d Oof 3k sa=
Teraar & &9 # qfenfa & g 2

(1)
(2)
(3)
(4)

(A) 1
(B) 2
(c) 3
(D) 4

NF X
o, A
e Grafoer
mafyg g

Answer Given by Candidate : Not Answered

Sl. No.60

QBID:1045035




Who among the following advocates the 'Entitlement theory of Justice' ?

(1) Kant
(2) Michael Sandel
(3) Robert Nozick
4) Michael Walzer
(A) 1
(B) 2
(c) 3
(D) 4
Afaf@a & @ Faa =g & arar g« afawfea frar g 2
(1) Ear

(2) AlsH dso
(3) qac AfFF
(4) HAShel Tooll

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered

Sl. No.61
QBID:1045036

John Rawls is

(n A Utilitarian
(2) A Social Contractarian
(3) A Perfectionist
(4) A Marxist
(A) 1
(B) 2
(c) 3
(D) 4
St e &
(1) ERDICICIEAS

(2) TS GiegErdr

(3) FUGICICH
(4) Aredarér

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.62
QBID:1045037




The word "ideology' was coined by

(1) de Tracy
(2) Karl Marx
(3) Fukuyama
4) D. Bell
(A) 1
(B) 2
(c) 3
(D) 4
TaRemr oreg it guroT FEa & g 2
M R
(2) Fel AFH
3
(3) FERil
(4) . ad
(A) 1
(B) 2
(Cc) 3
(D) 4
Answer Given by Candidate : B
Sl. No.63

QBID:1045038

The author of "Nicomachean Ethics' is

(1) Plato
(2) Aristotle
(3) Socrates
(4) Hobbes
(A) 1
(B) 2
(c) 3
(D) 4
Tt slew & ows ST § 2
(1) Teler
)
(2) ]
3 g
) RE:]
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.64

QBID:1045039




Who among the following used the concept of 'Oceanic Circle' 7

(1) I.L. Nehru

(2) B.R. Ambedkar

(3) Mahatma Gandhi
4) Jayprakash Narayan
(A) 1

(B) 2

() 3

(D) 4

@y & ¥ Faa RaRs afFe & srauror 1 ogaer fRar ¢ 2

(1) S.Ud. Jge
(2) #LHT. s

(3) HETCHT aTrelr
(4) FIHHIIT ARTHOT
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.65
QBID:1045040

The work "Who were the Shudras' 1s associated with

(1) Periyar
(2) Ambedkar
(3) John Dewey
(4) Mahatma Gandhi
(A) 1
(B) 2
(C) 3
(D) 4
B W yEr raw @e6fea @ 2
(h TRER
(2) HFASH
(3) Siter f3dr
(4) HRTCHT aTTel
(A) 1
(B) 2
(C) 3
(D) 4
Answer Given by Candidate : B
Sl. No.66

QBID:1045041




The term 'Original Position' is associated with

(1) Brian Berry
(2) John Rawls
(3) S. Moller Okin
(4) Michael Walzer
(A) 1
(B) 2
(c) 3
(D) 4
g 'Hifee aifSew fad d@efea g 2
(1 e Al
(2 SisT e
(3) TH. A AfET
(4) HAlgehol dleall
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.67
QBID:1045042

'Leviathan' was written by

(1) Locke
(2) Hobbes
(3) 1.5, Mill
(4) Rousseau
(A) 1
(B) 2
(c) 3
(D) 4
wiftarE & aws ST § 7
(1) Cica
@) GE;]
3 . a. Ae
(4) AT
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.68
QBID:1045043




Who among the following defined "Politics as the Authoritative Allocation of Values"
o

(1) Harold Lasswell

(2) David Easton
(3) Adrian Leftwich
(4) lan Bell

(A) 1

(B) 2

(c) 3

(D) 4

ferafof@a # & fFes Tl 1 AcaT F AealcA® HEeT & §7 A
afvaTiee fomar 2
(1) gles orEad

(2) 3faE Srea
(3) ufzae awefa=
4) I 9
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.69

QBID:1045044

Who among the following is considered as a 'reluctant democrat' ?

(1) I.S. Mill
(2) J.J. Rousseau
(3) Thomas Hobbes
(4) J. Locke

(A) 1

(B) 2

(c) 3

(D) 4

frafaf@a & & frasr rdgse disdardy A1 S1ar § 2
(1) = e
(2) oS w4

(3) UiAe gled
(4) o Al
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.70

QBID:1045045




'The Saptang Theory of State’ is associated with

(1)
(2)
(3)
4)

(R)
(B)
(©)
(D)

A W N =

Kautilya
R.S. Sharma
J.P. Narayan
M.N. Roy

e & geanr e Faa gEfta g o

(1)

(A) 1
(B) 2
(c) 3
(D) 4

FifeeT
HR.UH. A
Sl AR
TA.UA. T

Answer Given by Candidate : A

Sl. No.71

QBID:1045046

"Hindutva : Who 1s a Hindu" was written by

(1)
(2)
(3)
(4)
(a)
(B)

(©)
(D)

A W N =

Savarkar
Golwalkar

Lala Lajpat Rai
Bipin Chandra Pal

"%’W:issrl:fﬁ?g'ﬂ?maaﬁ??

(1)
(2)
(3)
(4)
(A) 1
(B) 2
(€) 3
(D) 4

HIEHH
Fleldlesh
STell deiad 1T
fafte d@g arer

Answer Given by Candidate : B

Sl. No.72

QBID:1045047




The concept of 'Complex Equality’ was given by

(1) John Rawls
(2) Michael Walzer
(3) Ronald Dworkin
(4) David Miller
(A) 1
(B) 2
(Cc) 3
(D) 4
SIS FHTAAT Y aaRoT FhE & & 2
(H Sie e
(2) HISHd dleall
(3) Aoz Zaltehet
(4) afgs @Aew
(A) 1
(B) 2
(Cc) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.73

QBID:1045048
Isaiah Berlin 1s the author of

(1) Taking Rights Seriously
(2) Four Essays on Liberty
(3) The Constitution of Liberty
(4) What's Wrong with Negative Liberty 7
(A) 1
(B) 2
(c) 3
(D) 4

e IfeT foFEs s+ & 0
(1) forar TEew diftaer

-

(2) TR THT 3= ot
(3) f& Fftececay= 3w o=t

ES
(4) e T fag aafes o=t

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.74

QBID:1045049




(1)
(2)
(3)
(4)

(R)
(B)
(©)
(D)

(R)
(B)
(©)
(D)

A W N =

4

"Considerations on Representative Government” was authored by :

Plato
James Mill
IS Mill
John Locke

SIS 3 WHefed Ta-die & o@s Hie § 7

=or
g Aa
Svg Be

ol ol

oilel ellsh

Answer Given by Candidate : Not Answered

Sl. No.75
QBID:1045050

The United Nations 15

(1) A Multinational Corporation
(2) An International Organisation
(3) A Non-Governmental Organisation
(4) A business entity
(A) 1
(B) 2
(c) 3
(D) 4
HGFT TE §
(1) THh W e
(2) T HaAUsET Haree
(3) TF I-TEHT s
(4) TF AEEREF SFE
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.76
QBID:1045051




Major wars between India and Pakistan took place in

(N 1947 — 48_ 1965 and 1971
(2) 1962 and 1965
(3) 1962 and 1999
4) 1965 and 1999
(A) 1
(B) 2
(c) 3
(D) 4
g R ofee= & &= YAE I F4 §U 7
(1) 1947 — 48, 1965 3T 1971
(2) 1962 3T 1965
(3) 1962 3T 1999
4) 1965 3T 1999
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.77
QBID:1045052

Who among the following thinkers is known for Realism in International Relations 7

(1) Hans J. Morgenthau

(2) Robert O. Keohane

(3) Joseph Nye

(4) Immanuel Wallerstein

(A) 1

(B) 2

() 3

(D) 4

frmafaf@a # ¢ Fia-9 REsF daUdy g9t & ganEe F fr J= a9
g7

(1) 79 1. Aty
(2) Jac 3. e
(3) e =
(4) SFATT I CIGEETAG]
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.78
QBID:1045053




SAARC was founded in the year

(1) 1991
(2) 1985
(3) 1950
(4) 1965
(A) 1
(B) 2
(c) 3
(D) 4
T F TAAT R I FH o o 0
(1) 1991
(2) 1085
(3) 1950
(4) 1965
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.79

QBID:1045054

Two superpowers during the Cold War were

(1) USA and Russia
(2) UK and Russia
(3) USA and USSR
(4) UK and France

(A) 1

(B) 2

() 3

(D) 4

Mg F e & FgrafEFa Iog Fa-d 42

(H FUET. 3R
(2) g% WX v
3) g.Ua.T. 3R G UE.TEIR.
4 g%, R W
A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.80

QBID:1045055




Which of the following is not a key feature of India's Act East policy ?

(1)
(2)
3)
(4)

(R)
(B)
(©)
(D)

A W N =

To boost its economic and strategic security

To develop strong relations with Indo-Pacific nations

To emerge as a regional superpower

To secure access to capital, technology, energy and markets

o # ¥ Fia @ ARa 1 T 7 A FT 97g e 76 € 0

AT IreaTaT MY OEATAF G F aw &
ser-afafths Tsgl & @y gee d@eut Fr Awfaa war
&9 AT % §9 H IATAT

(1)
(2)
3)
4)
(A) 1
(B) 2

(c©) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.81

QBID:1045056

Match List I with List 1T :

SO w »

List I (Treaty)

Geneva Protocol L
Nuclear Non-Proliferation Treaty IL.
ABM Treaty IL
SALT II Treaty V.

List II (Year)
1968
1925
1979
1972

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(R)
(B)
(©)
(D)

A W N =

A-L, B-11, C-I11, D-1V
A-II, B-1, C-11, D-IV
A-IL B-1, C-1V, D-111
A-L B-11, C-1V, D-111




T 1% | = 1 Ao fifew

c 0w pF

T 1 ()

SAar dretaier I
QAT HHER AT L.
vdruH. @Y 1L
dlec-11 §f8 V.

I 11 (@)

1968
1925
1979
1972

# fer v BEedl A & @8 3o # TIa fifSw

(1)
(2)
(3)
(4)

(A) 1
(B) 2
(c) 3
(D) 4

A-L, B-11, C-II1, D-1V
A-IL, B-1, C-II1, D-IV
A-II, B-1, C-1V, D-11T
A-L B-11, C-1V, D-11T

Answer Given by Candidate : Not Answered

Sl. No.82
QBID:1045057

Match List I with List I :

List I (Name of Author/Thinker)

oSN wp

Machiavelli
Thueydides

Hans J. Morgenthau
Kenneth Waltz

List IT (Name of Book)

Theory of International Politics
Politics Among Nations

The Prince

The Peloponnesian War

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(A)
()
(©
(D)

A W N =

A-I, B-11, C-1I1, D-1V
A-IIL B-1V, C-11, D-1
A-IIL B-1V, C-1, D-1
A-IV, B-1I1, C-11, D-1




A 1% w1 A Hif

T 1 (/e &1 A1) T 11 (TFH HT ATH)
Afraraelt L f3a9rd 3 seeeed gifefeaa
Yfesrss L offafesw T duew

g9, o Antar L & fre

Fer aree IV. £ dehorafee R

# BT av BFedt & ¥ ¥ 3o = 994 fifew

(1

)

(2)
(3)
(4)

(A)
(B)
(©)

W N =

(D) 4
Answer Given by Candidate : B

A-L, B-IL, C-III, D-IV
A-IIL, B-1V, C-11, D-1
A-IIL, B-1V, C-1, D-11
A-IV, B-II1, C-11, D-1

Sl. No.83

QBID:1045058
Arrange the following Cold War events chronologically from the earliest to the latest.

mo 0w

Cuban Missile Crisis

Suez Crisis

Soviet intervention in Afghanistan
Vietnam War

Korean War

Choose the correct answer from the options given below :

)
(2
3)
4
(A)
(8)
(©)
(D)

A W N =

E,A B DC
E,B,A D C
B.E.A C,D
B,E.A, D C




a@a%%ﬁmﬁﬂqjﬁﬁﬁmmﬁwﬁmﬁﬁ
H |

A, ogEl fAEse d@we

B. T HHe
C. IenfaEd A Aifaad gEaey
p. fagaam 12
E#IR& Ig

7 Br 9v Beedt & & @ 3w + T3a fifew

(1) E,A,B,D,C
(2) E,B,A,D,C
(3) B.E. A C,D
(4) B,E, A D,C

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : C

Sl. No.84

QBID:1045059

Which of the following statements about NAM are correct ?

Al NAM represented the concerns, interests and aspirations of the developing
countries.

B. It emerged in the context of a wave of decolonization afier the Second
World War.

C: India was one of the founding members of NAM.

D. The relevance of NAM after the end of Cold War is being debated.
E. NAM supported the policy of Imperialism.

Choose the correct answer {rom the options given below :

(1) Only A, B, C and E
(2) Only A, B, C and D
(3) Only A, B, D and E
() Only A, C, D and E

(A) 1

(B) 2

() 3

(D) 4




fFrfaf@d # & Hla-$la & Faa e @987 Iee (T.0.TA.) & qa 7
g

A TA.0.0H. fawmraeirer =i & gaeanst, Rar AR et &
sfafafaa swar ¢ |

B, ug q@Y fRa gg & wrara R-3ufAdwEr & oy & aRger &
EL TR

C 9RA TA.UTA. & FEUIF FeEedl A F TH ¢ |

D. ot gg & #Aftq & 9eara ta.ewd. & iR X @59 & W@
g1

E. TA.U.UA. & dAsaare fr Hifg &1 a7de g

A Br v Bedt & & ¥ 3o = Twa HifSw
(1) #dol A B.C.E
(2) Fdof A, B,C,D
(3) &dedl A.B,D.E
4) #aol A.C.D.E
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : B

Sl. No.85
QBID:1045060

Who is the author of the book "Engaging India : Diplomacy, Democracy and the
Bomb" ?

(1) Jaswant Singh

(2) Strobe Talbott

(3) C. Rajamohan

(4) Harsh V. Pant

(A) 1

(B) 2

(c) 3

(D) 4

‘SHTA SR Brard AR s R ave S oms FF E 7
1) o R
(2) = el
) &, usAEa
(4) &Y 4. O

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : D

Sl. No.86




QBID:1045061

The US-Indian Nuclear Cooperation Approval and Nonproliferation Enhancement Act
was signed in the year

(N 2005
(2) 2001
3) 2008
(4) 2020

(A) 1

(B) 2

(c) 3

(D) 4

g,UH.-Rd1G GRA] T 3eglea 3R AR date fefEad @ graer
o af & fvr aw & 2

(1) 2005
(2) 2001
(3) 2008
(4) 2020
(A) 1
(B) 2
(C) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.87

QBID:1045062
Woodrow Wilson's 14 points stressed the importance of

(1) Self~help in International Relations
(2) Security Dilemma in International Relations
(3) Traditional Morality in International Relations
4) Collective Security in International Relations
(A) 1
(B) 2
(Cc) 3
(D) 4

TRIT faewa & 14 g fFas Agcca Wad e € 7
(D asdT weut F wag weraar
(2) RIS waet # gee gfaen
(3) Fed waut F wERmea Afawar
) ol daet 7 aefes geeT
(A)
(B)
(©)

(D) 4
Answer Given by Candidate : Not Answered

W N =

Sl. No.88
QBID:1045063




The purpose of the US Marshall Plan was

(1) To extend economic loans to war-torn countries in Europe
(2) To give US a favourable image as a creditor
(3) To ensure economic stability and political order in the Post World War 11
World
(4) All of the above
(A) 1
(B) 2
(C) 3
(D) 4
g.0H. AR Collel & SISt 4T T ?
(0 T & gg wafda it 1 nfds Hor suerer
(2) MUl & &9 H FUH. H HFRIcHAS BId T el
3) facha faea gg & weaa anfds ferar sk aeeifos saawn
=
(4) Iqierd |
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.89
QBID:1045064

Which one of the following is not a part of the UN Millenium Development Goals
(MDGs) ?

(1) Eradicate Extreme Poverty and Hunger
(2) Achieve Universal Primary Education
(3) Promote Gender Equality and Empower Women
(4) Promote South-South Cooperation
(A) 1
(B) 2
(c) 3
(D) 4

fErfaf@d # & #la @gFa Tsg wgwrfes @ dedl (TAAE) s
et g 7

(1 Fcatee IEr HR HE@AT FT S

(o)) sl wrafds Rem &1 d&g 9red S

3) fofer garear 3t a1l aufFastor & gat=

) gfEor-g T wedhr

(A)
(B)
©
(D) 4

Answer Given by Candidate : D

W N =

Sl. No.90




QBID:1045065

Which one of the following is not a type of Public Policy in Theodore Lowi's
classification ?

(1) Regulatory Policy
(2) Distributive Policy
(3) Redistributive Policy
(4) Welfare Policy

(A) 1

(B) 2

(c) 3

(D) 4

frgER @ F T ¥ R Pefafla # © FiF o & Ay @
YR A&l & ?

(1) faferamss =Aifa

(2) farawor ifa

(3) qAfaaor Aifa

(4) Feamor Hife

(A)
(B)
©
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.91
QBID:1045066

Which of the following is/are correct about the Hawthorne Experiments ?

A. It was a proneering study of how individuals behave in organisations.
B. It was carried out at the Hawthorne Works of Western Electric company, UK.

Choose the correct answer {rom the options given below :

(1) Only A
(2) Only B
(3) Both A and B
(4) Neither A nor B
(A) 1
(B) 2
(c) 3
(D) 4




g gaen ¥ ey # Featetaa § § ¥4 w8

A 7 IR vH@ vmaa o1 % @afea d@eear 7§ fBFE TR
TEER 4 & |

B.  ag qfteror avea soifaed FOel L. F @Al aw & fRar o
oqT |

= BT 9v TFeut # ¥ HEr 3caY F1 939 fifaw

(1)

(A) 1
(B) 2
(c) 3
(D) 4

Fae A

%9 B

A R BaAt

AT BH ¥ FE A8

Answer Given by Candidate : Not Answered

Sl. No.92

QBID:1045067

The book "The Principles of Scientific Management' was authored by

(h
(2)
(3)
(4
(A)
(8)
(©)
(D)

A W N =

F.W. Taylor
Henri Fayol
Luther Gulick
Lyndall Urwick

'W%F@ﬁﬁﬂﬁﬁaﬁ?w*maﬁﬁﬁ?

(1
(2)
(3)
(4)

(A) 1
(B) 2
(c) 3
(D) 4

TH. Secg, To
gadr e
TR Tk
ICECEENELY

Answer Given by Candidate : Not Answered

Sl. No.93

QBID:1045068




Who is associated with the concept of 'Bounded Rationality' ?

(1) Charles E. Lindblom
(2) Herbert Simon
(3) Thomas R. Dye
(4) Yehezkel Dror
(A) 1
(B) 2
(Cc) 3
(D) 4

Fler AT aFdedar 1 3Euer ¥ gEfbg & 2

) o . T
) gdé weEa

(3) ATHT 3. 313
(4) Iehe 3R
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.94

QBID:1045069

Which of the following statements are true about 'game theory' ?

A. Game theory attempts to understand collective human activity as an outcome
of interactive decisions.

B. It assumes decision-makers are involved in choices that are interdependent.

C. In game theory the best’ depends upon what others do.

D.  Game theory can be applied to decisions about war and peace, use of nuclear
weapons and international diplomacy.

E.  The conditions of game theory are always approximated in real life.

Choose the correct answer from the options given below :

(1 Only A, B,C,D
(2) Only A, B,C, E
3) Only B,C,D,E
(4) Only A,C,D, E

(A) 1

(B) 2

(c) 3

(D) 4




o e Foau R s o s e s oo &2

A

o Reia wEfes Ame At F 5a:Ghaees ot $
IUTH % §9 F THESA FT TAH ¢ |

Ig AT § B Aty = 9 da et Teeat & afae @ §
Te TEd # 3cpse 59 919 W R Far & 7 39 a6 #7241 3
wE

T AT T 94097 I 3R Aifa, AR orE st F 3uEeT R
HeET Feehfy & fvtEt o feur ST wHaT § |

wa faeia $r aRfeufaar. gég aeafas sfea F @69 gar 8 |

1 eT 7T Seat # ¥ TET 3ea? FT 994 FHIST
(1) Fdd A.B.C.D

(A)
(B)
(©)
(D)

(2) Fde A.B.C.E
(3) F34 B.C.D.E
(4) F9 A, C.D.E
1
2
3
4

Answer Given by Candidate : Not Answered

Sl. No.95
QBID:1045070

Which of the following are true about a federal system ?

Al
B.
C:

D.

E.

A federal system is based on a constitutional division of power.
In a federal system the power remains centralised.

A federal system is an innovation of modern times to deal with the issues of
mass democracies.

In a federal system the regional units participate in the decision-making
process at federal level electorally.

It is characterised by primacy of territorial representation.

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(R)
(B)
(©)
(D)

A W N =

Only A B.C, D
Only A,C,D,E
Only A, B, C

OnlyB,C, D E




TN caerr F Tav & @ fs o Fa o s wdr € 2

A Te wET wager afET F duwlEs e 9w s

B. gy cygear & ofFT F=9d WA

C. @ sqaeq I dhad FI FAEAT ¥ oo F fow smyfes
TAT #1 GACAS JOTell § |

D. gd cgaewr # &9 swsar Aum $r ofma F 6w s w
AT HEATTAT FIA E |

E. gty wfafafaes $t wurearn sa+r o7 § |

Jr fer 7T fTseat # O §E 3o F g9 HifFT
(1) Fad A.B.C.D
(2) F9 A.C.D.E
(3) FIT A.B.C
4) 9 B.C.D.E
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.96
QBID:1045071

Who coined the phrase 'Catch-all' party ?

() Robert Dahl

(2) Duverger

(3) Sartori

(4) Otto Kirchheimer
(A) 1

(B) 2

(C) 3

(D) 4

‘Fa-3ifer arét Fr 3T R & & 2

(1) ae s

(2) Jgasir
) el
4) FieT Faegat
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered




Sl. No.97
QBID:1045072

Which of the following are modern approaches to Comparative Politics 7

(1) Behavioural Approach
(2) Structural-functional Approach
(3) Systems Approach
(4) All of the above
(a) 1
(B) 2
(c) 3
(D) 4
fAfaf@a & @ Sl @ Jeeicas Tsinfa & 3myfas saeE § 2
(1) S HPEIA]
2) TTATHS - FTcAS SIETH
3) ST 39ETH

4) ELCEG L]

(A)
(B)
©
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.98
QBID:1045073

Who among the following is not a classical elitist thinker ?

(1) J.A. Schumpeter
(2) Vilfredo Pareto
(3) R. Michels
(4) G. Mosca

(A) 1

(B) 2

() 3

(D) 4

Tafaf@a & @ #a a1 oy e Ras a8 ¢ 2

(1) EAR [ o
(2) derhar UeT

(3) 3. Adew
4) i, HAIERT
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.99
QBID:1045074




Which of the following statements is/are correct ?

A.  The origin of constitutionalism is traced in the Magna Carta.

B. State Duma is Russia's national legislature.

C. Separation of powers is about distributing powers between the Centre and
the States (Units).

D. Canada has parliamentary-federal polity.

Choose the correct answer from the options given below :

(1) Only A and B
(2) Only A.Band C
(3) Only A.Band D
(4) Only D
(A) 1
(B) 2
(c) 3
(D) 4
Ffaf@a & & st T Fu= @g 7 7

#iatnerarg $r 3cafca ®T A7aT HieT # I/ET S Tohel & |
& $T e Fum ww R g R |

HEFRT & AT T arced, Feg 3R T (FFEdn) & &
IRt & Raor & ¢

D.  wamer & duda-gdhy ga-sgaem ¢ |

w

a7 fer v BEedt A & ¥ 3o = T fifFv
(N Fad AR B
(2) Fad A, B3 C
(3) Fael A B3R D
(4) Fao D
(A)
(B)
(c)

(D) 4
Answer Given by Candidate : Not Answered

W N =

Sl. No.100
QBID:1045075




Functions of a Political Party include

A Coordination within government and society
B. Contesting elections

C. Recruitment of cadre

D. Representation

E. Legislation

Choose the correct answer from the options given below :

(N Only A, B, C,D
(2) Only A, B, D, E
(3) Only B,C, D, E
() Only A, C,D, E

(A) 1

(B) 2

() 3

(D) 4

TSNS gl & HEr & afAd §

A. TER IR gAT & d9 gaeay
B. AT A

C. HIST Al

D. oA

E. FIef AT

A fRr v fFedt # § 88 3ca 7 9949 ffFv
(1) Fad A B,C,D
(2) Fad A, B, D,E
(3) Faed B,C,D,E
“4) Fad A,C,D,E

(A)
(B)
©
(D) 4
Answer Given by Candidate : Not Answered

W N =




